	Strong Acid

	at a given molarity, has a lower pH than the other kind of acid

	dissociates/ionizes completely

	strong electrolyte

	battery acid: H2SO4

	no undissociated acid is left in solution

	gastric juice: HCl

	Ka = very large

	Ka > 1

	The right side of the dissociation equation is favored

	dissociation reaction goes to completion

	when calculating pH, you can merely take –log [acid] since the   [ ]  of acid prepared = [ ] of H+ in solution

	Weak Acid

	at a given molarity, has a higher pH than the other kind of acid

	dissociates/ionizes partially

	weak electrolyte

	orange juice: H3C3H5O8 (citric acid)

	HF

	exists mainly in undissociated form

	Ka < 1

	Ka is quite small

	The left side of the dissociation equation is favored

	dissociation reaction reaches equilibrium

	when calculating pH, you have to do a RICE problem to determine the [ ] of H+ since the [ ] of acid ≠ [ ] of H+

	


	


